	Třída
	K 5.10.
	K 5.11.
	K 5.12.
	K 5.1.
	K 5.2.
	K 5.3.
	K 5.4.
	K 5.5.
	K 5.6.celkem
	Pořadí 

	1.a
	0
	0
	0
	0
	0
	0
	0
	
	
	

	1.b
	33,4
	47,2
	80,0
	99,0
	99,0
	114,2
	129,7
	
	
	

	1.c
	0
	0
	0
	0
	0
	0
	0
	
	
	

	2.a
	0
	0
	0
	0
	0
	0
	0
	
	
	

	2.b
	0
	0
	0
	0
	0
	0
	124,5
	
	
	

	2.c
	303,0
	397,5
	397,5
	648,5
	648,5
	1 490,5
	1 490,5
	
	
	

	3.a
	17,0
	17,0
	17,0
	17,0
	17,0
	27,5
	27,5
	
	
	

	3.b
	0
	0
	0
	0
	0
	0
	0
	
	
	

	3.c
	0
	0
	0
	0
	0
	0
	22,5
	
	
	

	4.a
	67,0
	67,0
	67,0
	67,0
	67,0
	67,0
	67,0
	
	
	

	4.b
	463,6
	668,6
	668,6
	1 090,6
	1 090,6
	1 392,6
	1 634,6
	
	
	

	4.c
	39,5
	58,5
	85,8
	310,3
	310,3
	732,3
	1 525,3
	
	
	

	5.a
	0
	0
	0
	0
	0
	0
	0
	
	
	

	5.b
	316,4
	316,4
	316,4
	316,4
	316,4
	316,4
	316,4
	
	
	

	5.c
	0
	0
	0
	0
	0
	0
	0
	
	
	

	6.a
	0
	0
	186,0
	196,0
	196,0
	196,0
	196,0
	
	
	

	6.b
	63,4
	163,4
	168,6
	174,5
	174,5
	174,5
	258,5
	
	
	

	6.c
	13,0
	29,0
	29,0
	29,0
	29,0
	29,0
	29,0
	
	
	

	7.a
	7,0
	7,0
	7,0
	7,0
	7,0
	47,0
	47,0
	
	
	

	7.b
	0
	0
	0
	0
	0
	0
	0
	
	
	

	7.c
	64,0
	64,0
	64,0
	64,0
	64,0
	64,0
	64,0
	
	
	

	8.a
	169,8
	169,8
	215,5
	286,6
	286,6
	526,4
	526,4
	
	
	

	8.b
	0
	364,0
	364,0
	564,0
	564,0
	564,0
	564,0
	
	
	

	8.c
	0
	0
	0
	0
	0
	0
	0
	
	
	

	9.a
	0
	0
	0
	0
	0
	0
	0
	
	
	

	9.b
	0
	0
	0
	0
	0
	0
	0
	
	
	

	9.c
	0
	0
	0
	94,0
	116,0
	128,0
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